LCM
LCR
LCG
LCW

LCX
ST™M
STG
STS-STL
STR2
UCA2
ULKX%
JSK/IM2
JSG
J8C3-J5C4
USSD
UFCD
uscC
uUB
JSB3

A

o2

ALO|= 01CS

03CS

H7ALIZ 2=

BHA-FC series

O3X AEZH:5 9, 11,15, 20mm

04CS

bl BHA-FC

05CS

Bc;l
06CS C

A2H g mm| @12

»16

20

25

32

=N mm 6

»8

»10

»12

»16

H1

A
10

o

+

5~60

i
m
HU
]

mm 5

LMB
LML
HCM
HCA
LBC
CAC4

1

15

20

mm

+0.01

ne = | o[

ot | e | 4

Ao | 1> [ ro
|.|-|

I N

60~90

120~180

185~280

230~350

400~600

oHx|

Ju

79) N

12~19

20~37

20~55

45~75

70~100

HE 2 gl 142

212

362

594

1342

UCAC2
CAC-N
UCAC-N
RCS2
RCC2
PCC
SHC
MCP
GLC
MFC
BBS
RRC
GRC
RV3X
NHS
HRL
LN

A=
EsS|
43 YAH

R
FK

AT

L

CKL2-FC

F1: YT IAE 4 YOO Hi

o2y HISFO 2 AIRSIK| OHIA|L.

F2: AEH 20| EST} 7F6HX|H LI DIAE SO|
YR HEY M= YEA| AR 220 ATHHE 20 HEH FHAIL.
F3: MX|H2 AEZF QIX|0f| [t HHELICY

g 7X U BE BAE

IAsls 29

7t AEH L

@BHA-FC

K

L

N\VBirz

e ] |

]

[ No. | 22 53 =2 | No| 22 Y AE
1 |2 11 |FCAENMZE AE|0l2|AZ
2 |FCOAE 2E AHQIZ|AZ 12 |FC M AH[QIZ[AZ
3 |FCHzH AY UZ0E &= 13 | XES PaE=|
4 | N REES 14 |=E=A a3z
5 |HO{E 710|EA 43 15 |X=5B B
6 |0 J710|EB Pie 16 |2E Seal LI0|EZ 12
7 A PAg=| 17 |32A 23A =z
8 |2E0/4A AB|QIE|AZ 18 |I2A E3B gad
9 |2/80|4B AH|Ql2|AZ 19 | BA| ate ol ga
10 |AZgy AH[Ql2[AZL
1884 CKD



B HA'FC Series
PEREN

QI K| cAD) ricv
LCR
@BHA-FC LCG
LCW
LCX
STM
STG
STS'STL
STR2
UCA2
E F Y2 U ULK>
JSKIM2
Y JSG
JSC3:J5C4
USSD

3Hi§}, z UFCD
(: z USC
T = - @ B it i A $éﬁ UB

N

o I JSB3
LMB

LML
CLOSE <— OPEN HCM
HCA

LBC
CAC4
UCAC2
CAC-N
UCAC-N
W S RCS2

i RCC2
R, PCC
[l ] SHC

MCP
GLC
49’ ] MFC
R BBS
RRC
GRC
RV3X
NHS
HRL

LN
ﬂnﬂnﬂ“.nn é_HE

o

)
e

¢
)

G

C
o

|
o

X
MAX O
MIN P

—

i

BHA-01CS-FC 25 »13 MAX95.5/MIN93 775 | 15 | 495 14 | 2-M3x0.5 70| 6 10 12 25 M5x0.8 70| 8 18
BHA-03CS-FC 30 17 MAX110/MIN105.5 90 1.5 57 14 | 2-M4x0.7 70| 8 14 15 26 M6x1.0 20| 9 22 A3 AAH]
BHA-04CS-FC 41 ®21 MAX120/MIN114.5 99 1.5 67 14 | 2-M5x0.8 70| 8 17 18 30 | M8x1.25 70|10 | 32 FJ
BHA-05CS-FC 50 ©26 MAX148/MIN140.5 123 1.5 88 16 | 2-M6x1.0 Z0[12| 19 22 35 | M8x1.25 70|12 | 40 Elf
BHA-06CS-FC 60 @34 MAX199/MIN189 171 2 114 16 [ 2-M6x1.0 Z0[ 12| 24 32 47 | M10x1.5 0] 15 | 44 :’517
T \' X Y

L K K O N D E R R L
BHA-01CS-FC 5 15 10 |1094| 8 2x2-M3x0.5 2x2-M3x0.5 0| 7 16 12 25 16 36.5 15 3 -
BHA-03CS-FC 6 18 9 [10.5.| 10 2x2-M4x0.7 2x2-M4x0.7 20| 7 19 14 4.5 24 43 18 4
BHA-04CS-FC 8 25 14 [1054| 10 2x2-M4x0.7 2x2-M5x0.8 70| 8 19 13 5.5 30 46 18 4
BHA-05CS-FC 10 30 15 (109, 10 2x2-M5x0.8 2x2-M6x1.0 0| 10 22 13 7.5 36 61 21 5
BHA-06CS-FC 10 40 20 |16.905| 18 2x2-M5x0.8 2x2-M8x1.25 70| 14 36 21 10 44 77 33 5

CKD 1885



